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151.

153.

50.

Dilip can reap a field in 9 days, which Ram alone can reap in 12 days. [n how many days

both together, can reap this field?

M 51 days (B) 4% days

(©) 61 days (D) % days

@ Qeuafl- & simeuenL. Qaiw §AU-6@ 9 B &6 D@L, HMmsCw, grbd sefllwns simeumL Qauiw
12 priaenr . @rear(h Cumb Carpbg s SimeuenL DFliL THSmen HTL&GET @G ?

A) 51 priser (B) 4% prlaer

(C) 61 mriser (D) ? BIL&aT

If A can do a work in 60 days and B in 20 days. If they work together they complete the
work in

A) lodaysl - ch-iays

© 2Q days ) (D) 17 days

a0 Cauamadow A LWL Hb 60 priasafigud, B sl Hib 20 srisefigid Gswins @piguqomemrd @@m@m
Csihg) SiuCaimaeus Qsiiw araaueTa; pm_s6r G

A) 10pmiser , B) 15pm_ser
(© 20 pmmar " (D) 17 gprisar

A man can do a work in 3 days alone and a women can do the same work in 9 days alone. If
both are work together in how many days they finished the same work.

A) -1911 days (B) 6days

W Z%days D) 3% days "

S @ o Cumaou galuts 3 pr s uuunt. 24Gg Geuenwenw @ Quen geflwns
9 i safld pyliumt. 2Gs Coumaamw QBeib Geramis gsemar Brisafld apiglLITreae?
@A) % [ B) 6 priser

©) 2% B ek @ 35 pmsds
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140.

36.

89.

A man and woman are engaged in a work. A man can do a piece of work in 4 days and the
woman can do in 12 days. Find how many days will they take to finish it together?

(A) 6days (B) 5days

(C) 4days \'(B,/3 days

P e LONID @@ Guea @ Coimg @ Casmaemw Aswdprisdr. ayam om Casenaa
4 prisefler Qelig apglunt. @ Queasr ICs Caumeaw 12 prisdled Qswug EpyLILITT.
a_éJ(ZaJma)'enu_l Bmweumib Canmbg) ersemen Hrisefdd (pigLILITTEHET?

A) 6 prisar B) 5 ,q;m'_m'r{

(C) Agmisar | D) Ipriser

A can do a piece of work in 10 days and B can do the same work in 12 days. How long will
they take to finish the work, if both work together?

(A) 6days ” 5% days

(C) 17days (D) 8 days

A aanueit @ Ceusraenw 10 prisefic Gsudprt. Cs Caumaamw B eratueui 12 prisafia
Qaswdpri. Gmeumb Cathgy 2Cs Coumaau QFISTOD eTEsemer BTl satle AP IuiT?

(&)  6prsdr (B) 51_51_ B seT

(© 7pmisea (D) 8priser

‘A’ does a work in 10 days and ‘B’ does the same work in 15 days. In how many days they
together will do the same work?

(A) 5 days ,GB‘)’ 6 days

(C) 8days . (D) d4days

A gm Cauamwaw 10 prisefler wpuédort 2i1Cs Cauamaaw B 15 prisald apyadpri. Qo
Cumb @Cr Ceuamaens APt &@EWD & BaTeney -

(A) Spriser (B) 6 pmiser
(C) 8griaar (D) 4 priaer
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113.

A and B can do a piece of work in 8 days but “A” alone can do it in 12 days. How many days

would B alone can do the same work

A 20
B) 23
© 22

I

eo®m Cauaaeawu A, B mamb Gsits 8 prisafld wpylui. A wl @w 12 pmiseféd safiCu

@riuni. B ol Qb sicuCamamu asgmen prlsafldr apylun?

a) 20
(B) 23
© 22
D) 24

A and B together can do a piece of work in 8 days, but A alone can do it 12 days. How many

days would B alone take to do the same work?

(A) 18 days (B) 19 days

(C) 20 days M&i days

20 Camaamu A, B @meaumb Csibg 8 pr.salie wpiguui. A wl B oeCousmaanus 12 wrlserfle)

@ruuri. B ol (o scwGaumaomu assmar prlsafld goiglium?
(A) 18mmiser (B) 19prliaer

(C) 20priser (D) 24 prd ser

A and B together can do a piece of work in 8 days. But A alone can do it in 12 days. How

24 days (B) 25days
(C) 23 days (D) 22 days
& Cuamamu A, B @wamb Csipg 8 prisafid apuiui. A LB SicuCaumeenu 12 pm’_safle
g oun. B ol Qi SiciCaumamu aggamer prisafid qpguum.
A) 24 priser B) 25pniaar
(©) 23priset , (D) 22 priser

y days would B alone take to do the same work?






111.

132.

28,

If A and B together complete a work in 20 days. If A alone completes the work in 24 days,
then B alone completes the work in ;
(A) 14 days (B) 44 days
\)9)’ 120 days (D) 48 days
Ayb Bub Gsipg ¢@m Couammeow 20 prisafid Qeig epyiur. A wl@n sips Camamuw
24 pr’_sefler prdsre B LD 2i6s Caiamaant tpiy&ss CoaoaiuBeug
(A) 14 poliser -+ (B) 44 priser
(C) 120 priser (D) 48 moaar
A and B together cah doa wﬁ_rk in 6 days. B can do the same work in 15 days. In how many o
days can A do the same work? R : D : :
| {éﬂ 110 days o - - (B 9days
(©) 17days : o (@) 20 days
A-u.u.o B-yib Garrgbgj @5 (Ssummlu 6 ;arrl__maﬂm @oq.uurr B ek g,snﬂu_lrra; ,g;m@summmu_l ' |
15 g,m__&aﬁm Pl SBTE, Ag,aﬂurraa am@mmwwm P58 Gr@gges Gsrrerr@m BB crmmarm? E ’
(A) 10 prlsen ' : o (B) 9 p',rn_m _ '
©) 7priaer @ 20pmss
Aand B together can complete a work in 15 days. B alone can complete the same work in

45 days. Then

“ A is twice as good workman as B
(B) B is twice as good workman as A .
(C) Ais thrice as good workman as B

" (D) Bisthrice 28 good workman as A

A opg B Gopa @ Camamu 15 prisaid Asig (y)lq_uﬁr'r. 8)Cs Camamu gaflurs B,
45 pri_aafie Qeig apuriunt aafd :

(A) BawdlL A @Qm wLkig B Camussnyit
B) AewudLB@mn LDI;IEI@ poe Caimasamyi
(C) BawdL A gbwLig pd Caumassryi

M) A ew e B gbolig pode Gammssy



188. A can finish a job in 20 days and B can complete it in 30 days. They work together and ﬁmsh
the Job If Rs. 600 is paid as wages, then the share of A and B

(A) 240, 360 (B) 300, 300
360, 240 ' D) 400, 200

- A aanueut g Geuamaenw 20 prisafigin, B eaeaueut 2iCs Caumaaw 30 prisaflg)n @up;nur'r: .
Boanw Csiby Cauma Gsiig, suCumamu pyssl m. 600 g shsd amunusl Qubper
arafler A wpmitb B e Lk erenen?
A) 240, 360 ®) 300, 300
(C) 360, 240 ) ' (D) 400, 200

148. A can do a work in 10 days and B can do the same work in 15 days They earn Rs. 1,500
together. How will they share this amount?

(A) Rs. 850 and Rs. 650 T d Rs. 900 and Rs. 600

(C) " Rs. 950 and Rs. 550 (D) Rs. 1,000 and Rs. 500
A @@ Gauemevenws 10 prisafigun, B oens 156 pml.sdﬂémb Qeiig epryiur. @maimbd Carpg
SeCaumaawis Qawg . 1,500-g rlgeanme, oi50srasamw aaieumy GA556 Qararam?

(A)  m. 850 wpED . 650 - ) B) . 900 iimbd e5. 600
©  m 950 widmib 5. 550 D) . 1,000 wppid . 500



126. X can do a piece of. work in 18 days and Y can do it 24 days. How much Y gét if thé'y_ finish
the work and earn Rs. 42,000 ' ' '
(A) Rs 24000
\jﬁ/ Rs. 18,000
. (C)  Rs.20,000
O Rs. 22,000
X.@@; Camamu 18 prisaigs, Y Siwg 24 prisaigid Gaiig apyliur. @meamd Bmmg
DéCalmaamud Aaig ap. 42000 ch,lq.airla'). Y é@ HoLs@h bgreans edsuenea;? ‘

A . 24,000
B) . 18,000
© . 20,000 |
@) . 22,000

190. Acandoa piiece of work in 20 daya and B can do it in 25 days. Both of them finished the -
work and earned Rs. 3,600. Then A's share is

A . Rs. 1,600
VB Rs. 2,000
(©  Rs. 3,000
(D)  Rs. 3,100

A 20 Camaanu 20 priasafigud, B wens 25 prisaflgud Gelig (-y:Lq.uur'r‘ Gimeumhd Gerhg
ScuGamuemué Galgl m. 3,600-1 rlgemd SigQsrmsuia A-ar Lkig .

(&) @5 1600
(B) . 2.000 ,
© . 3,000

M) . 3.100



89.

‘29, -

87.

A is twice as good a workman as B and together they finish a piece of work in 14 days. In

how many days can A alone finish the work?

(A) 11 21

(C) 28 (D) 42

A aenueauir B-eow smigaid @mowikie Aptiurs Caumamw Qeleurr. Qmaumb Coibg Sibs
Gaumaew 14 prsafld apylunisd. aaGos A LLEDL iHs Camaamu (PYéss TESMET HrL &6
2GD?

A 11 B) 21

(C) 28 (D) 42

A is twice as good a workman as B and t.ogether they ﬁmsh a plece of work in 18 days. In K
.how many days A alone finish the work?

(A)  26days \ﬂf 27 days

(C) 25 days I o D) 24 days

~

A, Bgu Gure @gw@ IOLIIE Smenwulen B Gmma:u_lrrm SICUTHET @)MeU(HLD G(M Gmmwmu

18 g,rn_amﬂa) Q.ptq.&&ﬂm niraer. A I.DI_®LD SicuGauemaemu erg,senan ,r_r,rrt_emﬂa: apiql r_mrr?

(a) 26 R . ®) 27
© 25 _ S D) 24

A works twice as fast as B. If B can complete a work in 12 day's independently, the number
of days in which A and B can together finish the work is

M 4 daya B) 6 days_
(C) 8days _ (D) 18 days

A, B -g L 2 wLmg Caswors Gaamer Qeudpri. B-ogé g Gasnaeaw §5aﬂmrr5 APl EE

. 12 g sdt geaned, A wpmd B @@su@u: Bepg) ips Ceumearar aprss Coenauliubud ;'prn_.serr

(&) dpmisar (B) Gmrn_ﬁm
(©) 8 prliaer ‘ (D) 18 prla&er



59.

61.

217.

A alm.le can complete a piece of work of Rs. 800 in 8 days; but by engagihg an assistant, the
work is completed in 5 days. Find the share to be received by the assistant

A 500 | _ w 300

© 800 ‘ @) 600

A @erueauir WL EL 5. 800 sarar g Caimaemw 8 preafled wpigiunt. 2ypgs Caimuemu S g

2 gaflwmareny eweaubgs Qanar(® 5 prafic Wa$sTd o geluTaTHES Dt QsrRss Gasmqw ks
creucueTay? ' .

@ 500 | | ®) 300

(C) 800 ) D) ) 600

" A and B can do a job together in 7 daya:, Ais 1% tlmes as efficient as B. The same job can be

done by A alone in
) Q%dm o Mndm

(C) lz-i— days _ . (D) 16— days

A wpoib B syflusytsd Coibg g Camamw 7 prlsaflé qpysdapent. A erenusut Bg el 1%

Lk eflenreurs apig ot arefld =G Caumamw A gafluns aigamen prisafia gpyOumT?

(A) 9% B SaT (B) 11 pm_sar
1 . . 1 e
{C) 12; BrrlaeT (D) 165 [T

A can do a piece of work in 7 days of 9 hours each and B can do 1t in 6 days of 7 hours each.
9
How long will they take to do it, working together 8; hours a day?
(A) 4days (B) 5days
3 days (D) 4% days
A, g Caumaamw 9 warfl Cryw QararL 7 Cauene prsallgin, B @iCGs Caumaamw 7 wefl Cryn
QaramL 6 Caume prisafl@b (Pigéassadb. Seuissr Qmeaumb Carbg om g,n%nm&@ 8% werfl
5
Cpyib Ceusva Qstiznen, DieuGeumaEW (Y1468 GTEUEEIaY ST 6T(HLILMTSET?
(A) 4 prisar B) b5 prisdr
(©) 3 mriser D) 4} prlsar



86. A can do a certain job in 12 days. B is 60% more efficient than A. How many days does
B alone take to do the same job? ' '

(A) 8days (B) 7 days . o
M?%days - , @O 8% days

A g Cawwayu 12 prsefid Qainug sm@n. B aduait A g il 60% obs Hyewujenwiaii.
=18 Caumarmw B ol G apig 8 sraswar Briser aDEsis Asmatauns? ' '
(A 8 ' _ S o® 7

© % ©) 8%



61.

38. .

A can do certain job in 12 days. B is 60% more efficient than A. How many days does
B alone take to do the same job?

(A) 81 days (B) 6% days (C) 9% days { 71 days

@@ Camamu A e 12 prisafigib B erémueui A-ewé smygib 60% sifswns Qsiig
@ylun eraflé B bl Qi sicuCamamu Qsiig @pylugparer Hrlser

(A) 81 pmiser B) 6% pmiser (©) 9% priser D) 7% prisen

Ram can do a work in 15 days. Rahim is 50% more efﬁment than Ram. The number oglays
Rahim will take to do the same piece of work is

@ 7% & 10

© 12 D) 14

b eranueui eh Ceusnaenit 15 B safld wpusdpri. Fadd areueui gmb-eow efl. 50% eflereuns
Ut erefle, radib i Gib seflwns 2Gs Gmm@my GTHSEMET BHITL_HaTed (igLILITT?

A) T4 ' (B) 10

© 12 D) 14

A can do a job in 16 days. B is 60% more efficient than A, Fmd the number of days for B to
ﬁmsh the same work. ' _ _ .
o ®) 12 o

V 10 - ™ 15 .

@ Gaumaamu A 16 prisafido apgliun. B erenueui A-eow oS 60% alfﬂmrrm ﬂpmmuml_u_lmlr
erarflel, (L G'msmwmu b &5 Big Genanuimer mrn_am

(A 16 . ®)
() U (VI ' - (D) 15f



45.

94.

82.

A alone can do a certain job in 25 days which B alone'can do in 20 days. A started the work
and was joined by B after 10 days. The work lasted for:'

A) 12% days ' B) 14% days
(OF A ' N8 6% doye

e HudlL Camoeow A 25 prers@s wyoumn. Cogb B saflurs oims Gwa);\)mm
20 prigefied wulurt. A Caumaamw Qgrimdl 10 preradr sflss B Cordlpm eraflldr oibs Cauama
WPl YD HTL&ET. :

(A) 12% BT GET ] (B) 14% BIL_&GET
(©) 15 Bl ser (D) 6§ BIL_S6T
Deepa and Arun can do a piece of work in 20 days and 30 days respectively. They work

together and Deepa leaves 5 days before the work is finished. Arun finished the remaining
work alone. In how many days is the total work finished?

O 15 days ‘ (B) 18 days

(C) 12 days (D) 20 days

SUm LOHMID DiHERT o HCwrr @m Caumwmwu wpapGu 20 pﬂL&G;IT whmd 30 pr_safldr Caiig
UL Seuissr Gmeamd @menhg Caema Qe Asmmddpant. Sur Cauma WYasNG
5 B ser (petanzns Heng @S DiHe pafllurs Cauma Gsig by Camamu P sHmmi
aafler b Cauama erdsemar Bl safld (plgaiei ujb?

(A) 15 mriser (B) 18 prigen
(C) 12 mriger (D) 20 B ser

A and B can together finish a work in 30 days. They worked for it for 20 days and then B left. If
the remaining work was done by A alone in 20 more days, A alone can finish the total work in

(A) 48 days (B) 50 days

(C) b4days W 60 days

A wpmib B @eanis i Camumu 30 prisalle Qewear. 20 prsear mamd @eoanps Caieme
@siig Gemy B Casmanniiefimbg eledl oSl ni. Bgapdrer Caumaau A L @b 20 prsdr Qeiigm
eraifled ap(p Ceuamaens A il Hib Gaiig 1pigs6 aT@HES GamarEibd pr sar

(A) 48 priser (B) 50 mnuse;tr

(C) 54 pm_ser (D) 60 prser



Two men A and BB C..ELI‘.l.{ii;J a work alone in 8 days and 20 days respec:tivelyl. They did work
together fc;r 4 days. Find the remaining portion of work to be completed?

@

10 | : _ 10

' ' : 10

10 1
o )

7 - ' - 3
A -LLlI'.‘Umjlh B eém wafgisdr saliisefiCu em Caumasw 8 BIL&ET 1DDOLD 20 mrisafld

e [ i L Zeueh Ceuenanuliletr
aprliuniser. Elmbeunio Ganpg 4 Broser Couenm Gans. U apigssiulL. G e

. . {
LSl erememalns @) mEHD? ) S ) : .

: _ g
7 : =

@ - _ : AT
o - 10
() % : | () 5

Two persons A and B.are ehgaged_ in a work. A can do a piece of werk in 12 days and B can

do the same work in 20 days. They work together for 3 days and then A goes away. In how
many days will B finish the work? . ' ' -

@ 9 | ® 10
iz _ ©) 17

Awpgie B Gregh e Cawmamu Galdédapant. A, 12 prsefld PO S (y)lq_&s apigaLib.
B gyanauir 2iGg Garenaanws 20 p1isafid apuds apyuid. A, B-Bmausn Corpgy 3 prisda Came
Qeisg Mo A sreucngell’ () Qeanpyed” L. B Cawmaanu B agseman prl_seflé qpigliLm?

@ 9 - ® 10

© 12 - D 17



25.

PA can do a pieée of work in 80 days. He works at it for 10 days and then B alone finishes the

 remaining work in 42 days. In how much time wﬂl A and B working together finich the

196,

work‘?

(A) 28 days

® 31days o | |
Y Gmmému.; A smaium 80 ';arn'_mﬂd:' QAeisgy @'.p;.;.um'r St 10 prn st Gauened Qelisiien SH
Gaumaenw B erémiiauit WG 42 ,r_arn_ﬁerﬂw Qau.lg @:msgmr Au.|w Buyib. Gmrpg; Ceuenar Qauigmed '.
alw@ma:mmu.l apmrrsa'r mmm sresdHo Qalg @)q.uurr?
(A 28 prn.m

(B) 30 pmisar

©) 29pmisdr

'(ll)') 31 prisan

Sita and Geetha can-do a job 1n 15 days and 10 days respectiveiy They begém to-work .
together but Sita leaves after some days and Geetha finishes remalnmg Job in 5 days. After

how many days dld Sita leave?

®) 6
(D) 10 -

: @@'Gmmmémm Fzm 15 "[Bmlmfﬂ@fn- Sgir 10 (mm'_.-_mﬂgm_b (l_.p]qﬁurrr‘raaéﬁ @'@m@ib-(‘éér’r;’r@ Gsummmm
-'(’.J;sm_rmeﬁu_@m S pnm@&@uﬁlm@ Egm Qo) aﬂh_s_rrefr LIS§LD 2 airar Gaananepus &grr 5. 'r_r,rrl_maﬂm B
(P\§BSTE TS, ﬁg,rr Greueumau (r_r;rrl_e;en E@g@]& G]Ersurg) rer? '

@ 3
®
© s

® 10



120. Acan ﬁmsh a work in 18 days and B can do the same work in 15 days. B worked for 10 days
“and-left the job. In how many days, A alone can ﬁmsh the remaining work"

(A)_ 5 days
B 5% days
: \%I 6 days

® 8days

A eremueui @ Gaumarenw 18 Bl safigid B aénueuir aG,s Gausmarenws 15 an&ﬁﬂle Qadieufr.
B s Camaaw 10 prisdr aigei.@ eﬁlm@ﬁmﬂn eraﬂw A BUEb Lﬁg@mm Ceuneenw
asgenan B _aafld ngl @apglimi?

(A 5mmiser |
B) 5Y prisedr
(Cy 6 puriser
§)] B'pm'_a;é'rl

90. Xand fcan complete a job separately in 40 and 80 days. After working together for 8 days,

X leaves. What is the total time in which the work is completed? o
" 18days . ‘(B) dddays
(C) ~ 46 days S (D) 40days

Xoipgd ¥ ppeptu go Sumamu 40 vppo 60 priseia gafpgafiurs Qeig) @puOLmiseT. .
8 jnm_seﬂw sersdr Ceips s Gar X aauarn dioglpnt. sps Cam apiru crdjmmsq
BIZ6T BYED? _ .

(A) 48 griser : -~ .(B) 44’pm'_m

© d6priss D) 40 e



171.

A and B can complete a work individually in 12 days and 18 days. They started domg the
work together but after 4 days A had to leave and B alone mmpleted the remaining work.
The whole work was completed in :

“

A 30 days :

(B): 20days
& 12 days
(j)) 8 days

A, B @mesit g Caumaranws apanCuw 12 s, 18 Lr,lfl'.&dﬁé} apa UL, 4 prot Cassne Liigs D@
A ﬁmeﬂ s Apni. 158 Coucnereny B oL (b @qu.&él_mrrrr erafled a;su@sumwmm WPPaIgID (P 5E

SHGID BT ST
(A) .30 pmsar
(B) 20 pacsar

(Cr 12 priser

D) 8 mrliser



131. A and B can do a piece of work 1n 12 days. B and C 1n 15 days, C and A in 20 days. In
how many days will they finish it together and separately?

\y/ Together = 10 days Separately A = 30, B =20, C = 60
(B) Together = 15 days Separately A = 35, B =25, C =65
(C) Together = 20 days Separately A =40, B=30, C=70
(D) Together = 25 days Separately A=45B=35C=175
A, B @meaimo @m Caumeau 12 priseale Qaug apyuur. B, C 2Gs Caumeaw 15 prisafléd

Qg wtiuir. C, A 905 Caumaamw 20 prisaled GQealig apuylur ppaumd Csikg wHmHb
saflsgeflunseb ScuCaamaemw agamen prsafd Qg apglur?

(A) Gsipg = 10 priser gefigsafiurs A = 30, B =20, C =60
(B) Gsibg = 15 prisear saflgsaiiuns A = 35, B =25, C=65
(C) Csibg = 20 priser safissefiuns A = 40, B=30, C=70

(D) Gesipg = 25 prisen pefigafurs A= 45, B=35, C=175

o189, A and B can do a work in 12 days B and Cin 15 days, C. and Ain 2(} days. In how many -
days will they finish it together"

w &
® 9
@ 0
® 11

G Gevenavans A wmid B, 12 pr saflguiv, B wpib C 15 prisafigns, C inpgi A 20 prsafigi
_ (_Lplq.lll.’lrrr‘rg%ra‘rr. @:au@fn Glsr'rlrjrjgg. SiaIGaemaemu (Piass Grﬁhmméq (mrrz;_'aaér:r %@L@? _ '

@ -8

® 9
© 10

_ (D). " 3



30.

70
{

~ A'and B can do a work in 12 days. B and C in 15 days. C and A-in 20 days. If A, B and C
-work together they will complete the work in )

@) 15 -‘g’- days o ® 5 days

K_lOdays ' (D) ngays

@ Casmaa A, Buyb 12 pr salgud Bup, Ciutb 15 prisaiigid Cub Aupd 20 pri” sedgin
QsgTed gpaldb Gebgl Sibs GCeaumaaul Gaig (1plg&ELD BITL_S6T

9 .
A 15 3 BrL&eT o B) 5 pmiser . .
© 10 pucadr- o 6 % B aT
A and B can do a piece of work in 12 days; B and C in 15 days: C and A in 20 days. All the three

ogether will complete the work in:

S davs 2) 5 days

) ‘;n\l‘x\ 1) 12 days
i

170.

_ IfAand B ean doa work in 6 days. B and Cean do itin 12 days C and A can do 1t in 4 days "
"how many days it would take to finish the same work by all the three bogether" '

A) 8days

| ﬂ( 4 days
(C) 10days
D) 2days

R Gmsmusnu_lA wh By G&rrpgj ng_a;crﬂgum B u.]u:u C yw GEH{E@ 12 Lr;rrl.&mﬂg;uu: C b A Wb
Beipg 4 i saflgd Q,mq.uui’r GTEuileD, eaa.nra;m AP (i (B&rrpg; &m@mmmm erggeanal BT safld
pig.58 Gluigyid.

@)  8prisedr . - ' | . o

B 4prisear | | |

© 10prcser

. (D) ' 2;5{&',36"!1



161. AandBcandoapmceofworkm 18 &ays,Bande 24 days; CandAmSGdays In how

 many days can they do it all working together?
, \w/ 16 : . ' ® 12
' ») 26

-

A, Bﬁmmw%m ISpm_.mﬂm Q.nug . B, Ca;GgGmmm %Mw
- Qe gpgiiui. C, A 21Cp Camamw 36 pm_saﬂm Qau.lg Gplq.l..ll.lrl' APRUEHLD Gmpg SidGauencwemus

: Grﬁpwarpm_maﬂa)@mg PigLILi?
@ .6 L o
S © 13 - ©) 26

._111. AandBcandoapmceofworkm lOdaya,Bande 15day8'CaJJdAm 18days Inhow _ .

many days canBalonednn;‘? ST SR
(&) 30days . .(B) 20days '

E : A m;ngm B ) Gmcnmaau.t 10 mm.&aﬂg;m. B mmgm Ca(%g Gmmwm 15 pnu;aﬂgjm. C mpgum
A 2Cg Caueaaw 18 g.rn_aaﬂgum @pquurr aaflé, B gaﬂ&u am@me)mu_l eTauQueTaY 5rn_.sa|ﬂm

- (pmLwmi? | o N |
@A 3015m._sa'r = - o (B) Zojbi'rl_&ﬂ'l _

' 76. A, B together do a job in 6 days, B, C together do the same job in 10 days, C, A together do
the same job in 71 days. If aIl three work together in how many days will they complete

"the ]ob‘? : :
' Jﬁdays _ L (B) 41 days

(C) 4days : D) 3days

A B @mamd g Causemu 6 prsdid Asig gl B,C @@m@th 2Cg Goumwaw .
10 prsafld Qeig apuuur. C, A @oaumbd 74 prisdld Asug @eiul wemd Gaibg
SicuCamaemu agpmar prisais Gelg pgUUr?

(&) Sprisdr  ® 4hpriea
' (© 4priser | @) 3 priser



88.

29.

46.

A Band Cecan complete a piece of work in 24, 6 and 12 days respectively workmg tngether.
they will complete the same work in

M 3— days _ B 4 —?- days

© 10? days : : D) 12i'days_'

A, B wpmw C @sunsar 0] @gﬂulﬂh_l_ Ga.lsnmmtu Qaigy (y)lq.EE TREGID Sre JereyseT penpGur
24, 6, pgid 12 prser srafd Geuiaar ppaumid Corbgl R (o Gmmmmm Qelig Wiyss
T EgiE AEMETEHD ST Sjemey

(A) 3% B sar | | ® 4%15“1'_.5@?

© 10% pr_sar | D 12%- B sdr

A, Band Ccan complete a piece of work in 24, 6 and 12 days respectively, working together
they will complebe the same work in .

o 32 days | o (B)_4;days
© 10E days : _ '(D) 12l days

A, B m;nmm C @@Frm @ GHOO L Caumeau Yubss erra'ra'r cr@,sgls Ganm@r_;w e
Sarenauset penpenws 24, 6, 12 prdrsdr. Qeuiraer apeumid Garrpgg @ Caumamu Wy 58 s ieTay

@A 3% BT ST B 4? prisar
© 10-3 priser ) 12% o s

A, B and C can complete a piece of work in 24, 6 and 12 days respectively. If they work
together, in how many days they will complete the same work?

{4) 1/24 day (B) 7/24 day W 24/7 days (D) 24/11 days

A, B wpmyid € arémueuisdr g Caumaew winbs weapCu 24, 6, 12 prisd a@sgs Asremeui
arafled, @Gz Coumme SIQUTEET BienaTa(mDd @msmpg,j CQowigl pubhs THSET LTLGET
CaemauluBib?

(A) 1724 mrer ®B) 724 ‘I_T)FIG:IT {0 24/7 prlser Dy 2411 prlser



123 A,BandCtogethercanﬁmshap1eoeofworkm4daysAalonecandomlzdayaand-'-
--BalonemlSdaya Howmanydayswﬂbetakenbycwdoltalone" ) N

12 days | AR | C
_ a/ 9 days |

@ 18days

A B, C Q,peu@m Gmrpg g@ unme)smu 4 pm_.mﬂa:r q,pquuu A gaﬂcu.l 12 ;brn_mﬂgum B ;aﬂGu.le_.-
18 pr_safigib am@ma)mmm Q,owlrm ¢ MGLU atm@summu.l crma.lmaq mm_a;aﬂm PRULITE?

(A)_'. lﬁpm R )
® iZpesd
: (C) Qprn_&ar : .

: .(]_').):' 18;5rn_5ur | -

137. Three men A, B and C can complete a job in'B 12 and 16 days respectivély A and C work
‘together for 2 days then C Ieaves and B j joins. In how many days can A and B finish the

work? . R |
@ 1 N €

A, B, C eranp peult G GGUWG)IGQU.I wepGu 8, 12, 16 ;ﬁn'.&aﬂd: wpyliuriser. A, C @@m@é
- Conpg SeuCGauameaenw 2 ;r,rrl.ﬁ(g_'g;@ Qesiigant. ﬂaraﬂr C sﬁ]m@ﬂmmr B G&@eﬂﬂmrﬂr erafler A, B
o Ll @@m@m G&rr,r_r)g am@mwwwu sr,s;a)esr !srrl_&mﬂm Q,bu}uurrrra;m?

@ 1 B ® 8
© 4+« ®) 5



51

ETS

15.

A, B and C can do a piece of work in 36, 54 and 72 days respectively. They started the work
but A left 8 days before the completion of work while B left 12 days before the completion.
~?umber of days for which C worked.

24 B) 26
© 28 D) 30

A, B, Caanp gpengy Guit g Geuenavenws penmCGu 36, 54, 72 pirl_safldd apiiuf. @A A eranueut
Cauevar (puyaupd® 8 BILsERsS weunsah, B eeamusi 12 BT &ER&E (Wwenunsayn efadls
Asram_en. C erenueuit sieuGeuamaemiu erggenen prc_sefld apigiumi?

A 24 (B) 26
(C) 28 (D) 30

Three men A, B and C can complete a work in 10, 15, 30 days respectively. A and B work
together for 3 days then A leaves and C joins. In how many days can B and C finish the
remaining work? _ L '

5 days I . _ B) 6 days
(© 10days o (D) Tdays

A B C éra'rrml apenm wellziser em Gaumamu saflgsaiGu 10, 15, 30 prsafled apuylLITiaEsT.

Ay B-yd apenp il sEnée Gaime Ceuma unfigsiel @ A dfedl ofi C Garf@gﬂ&rrd‘rﬁmrrr’r_.
 Baaperer Gaumaenis B-ujib C-wib ergpenan B sefled qpiqiLii?

(A) Spriser _ B) 6 prsar

(©)  10pniser | - (D) 7priser

If 12 men and 16 boys can do a piece of work in 5 days. 13 men and 24 boys can do
it in 4 days. The ratio of the daily work done by a man to that of a boy is '

W 2

®) 3:1
© 3:2
(D) 5:4

12 waflgrsgrd 16 wrarcitsegrhd Goipg .o Coemaewu 5 prisdd gpyéddment,
13 wellpis@sd, 24 wrameuisa@sd Csipg SiciGaumamu 4 pm.sefld wpussmd, Hearpn
waflgaytd, rameumnib Geinyb Caramauder S55ms sagy.

A 2:1
® 3:1
© 3:2
D) 5:4



79.

' 129.

If 12 men and 16 women can do a piece of work in 5 days. 13 men and 24 women can do it in
4 days. Then the ratio of the daily work done by a man to that of a women ig

A 3:1 B 2:3

' 2:1 o . D)y 4:5

o Comamu 12 syensesb, 16 Guanseyd. 5 prisdgid, 2G5 Gaumasu 13 arsEsb
24 QuaimsEnid 4 prissfled Qaiig pysdpriser aafld @@ prafled QHOWLE sigl HBTHEFEGLD
QuaaEpé@Eiorar ehldgin .

@ 3:1 o @) 2:3.

© 2:1 - D) 4:5

Eight men and twelve boys can finish a piece of wozk in 10 days while six men and
eight boys can finish the same work in 14 days. Find the number of days taken by
one man alone to complete the wnr]: and also one boy alone to complete the work -

V‘( Man - 140 days, boy - 260 days

Man 280 days, bny 140 days

*(C) Man - 150 days, boy - 300 d.a_ys

(D) Man - 300 days, boy - 150 days -

8 yparsdr whpb 12 Ageuisdr Csipg am Cacaaw 10 prisdfd Asig apyiui. 2Gs
Caumaraw 6 S e m;i)gm.b 8 Ayeufredr Coniig 14 prisafid Qo aprgliuf. P e
gahuns am@mmmmu Grg.g.maﬂ prisefléd Qawig qpigluni?  gm - élgjeuaﬂ 5€hﬂu.ll'l'ﬁ

aqaj('hmmmm ﬁgﬁm gbrn__a;m‘ﬁsu Gledig apig.IUmeT? -

(&) ek 140 pmlsdr, Apeven 280 mm_aar
B)  guen 280 pri_ser, Hpeusin 140 Bt sdr

(©)  <ayein 150 pui_ser, Hyeucin 300 pm_sar

D) e 300 pr s, Hmicudy 150 B _sar



'80..

149.

55.

. 2 men and 3 boys éan do a. piece of wcrk in 10 days while '3 men andl2 boys do the same
work in 8 days. In how many days can 2 men and 1 boy do the work?

®» R aflz

© 1B o

Y] Gaumams 2 wallsiaEpn 3 mums&r&s@&"@&ﬁﬁgﬂ 10 ',r_r,rn"_mﬂgmh <G5 Cawemyu 3
wallsisEph 2 @uwdsesd Gaibg 8 prisellgd wpyss hyd. 2 msuﬂ,srras@m 1 cnuu.lgmw

Gahbg) &su(ﬁsuwwenu.l ag,g,a)m l[r)rn_mﬂm Qacu_@j @pu}&&; (g:mru.u.n?

2 : o ;
W % . - ® 124

(C) 13 | .'.- | \(D) 12.

If 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys can do the
same work in 2 days, then what is the time taken by 15 men and 20 boys to complete the
same type of work?

(6 4 days (B) 5 days (C) 6days . (D) 7 days

6 yamsa, 8 fApaiser @wensg @ Camamus Qeauw, 10 prisar CsmauuuBd; LHHID
26 gyamsar, 48 fparser Gmarsg G Caummwaw 2 g,m_emﬂa, Qeweur erefla, 15 Q,amserr
20 Ageurser Gaihg 1G5 Casemaenwsd Qe argsenan BT G6T Ggmmuu@m’>

. (A) 4dpriser (B) 5 priser - (C) 6 prisar D) 7 priser

2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the same in
11 days. 8 men and 6 boys can do 3 times the amount of this work in

W 21days (B) 18 days
(C) 24 days A (D) 36 days

2 gyamser wHmd 7 Hpeuiser @m Coumamw 14 prisefid Qawg wysddapant. wHmb 3 s
wHmiw 8 Anaiser G Caumaamu 11 priseafld Asiig ysflamet. aafld 8 arsdr WHMID
6 Ameuiser, sibs Cauamaawis Gume 3 wLmE Ceumean argsanet Hr_sefled Aauig pguUT?

(A) 21 mriser (B) 18 prilaar

(C) 24 prisger (D) 36 prser



48.

83.

2 men and 7 boys can do a piece of work in 14 days, 3 men and 8 boys can do the same in
11 days. In how many days, 3 times the work can be completed by 8 men and 6 boys?

W 21days (B) 18 days (©) 24days D) 36days

2 oypamed, 7 fgeuisar Ceipgl ¢m Caumauiamer 14 prisafld apyium 3 eyarsdr, 8 Ameurser
Capgl, Gp Ceumaemw 11 pmisafld Gsig pyluf aefld, =Gz Gurd apanmy Lol_ru@
Geueveven i, 8 sy eimaer. 6 figeviact Conpgl apgman prsefld (g pyuuir?

A) 21 prisar (B) 18 mr e (©C) 24 prisdr (D) 36 prlser

4 men and 6 women can complete a work in 8 days, while 3 men and 7 women can complete
it in 10 days. In how many days will 10 women complete it.

@ 35 G 40

(C) 45 (D) 50

e Caumamu 4 amasEh, 6 AuarseEsn Carggl 8 priser Aeldiprrser, Cogib 2iGs Caumaeanw
3 yamas@nn, 7 QuansEsbd Garbgy 10 pm_sear Qeliflprisar. 10 QuaseT B iz CalenaweniL
arggemen Bl _sete Gauiig apyliuriser

(A) 35 B) 40

€ 45 D) 50



165.

39.

5 men and 2 boys working together can do four times as much work as a man and a boy.

4]

Working capacities of a man and a boy are in the ratio :

@ 1:2 _ (B 1:3

'M-zzl o D) 3:1

5 gyperraen i.nﬂ')gﬂb 2 euiwenaeT Poanpg Asldp Cauma gk weallger Loﬁ)gui.b S euwer daldleanp

Ceueneuflen Bierelle 4 OLRISTGD. G e WHNID @ euwen Caumer Qeiiwissmigus senanioullenn

eflflzomeug) _
@A 1:2 - ' (B) 1:3

© 2:1 _ o D) 3:1

5 men and 2 boys. workm§ together can do four times as much work as a man and a huy:can
do. Then ratio o{ workmg capacities'of a man and a boy are in the ratio T i

5:2 : B 1:3

y21 R D 2:5

5 e &(@pib 2 ﬂgtajrra;@m Geikgl Qeinyb Geumag Q;osrrrrmg 2 %@:m 9@ Ameugphd Qﬂﬁum

;

. Couawug Snemail. Gumer 4 LDl_rN@ Tl @it czpdkr LHMD. @@ Amysussn Qadinh G@Jmmg Msur

eﬁélgmerg? . - ‘
@A  5:2 : ® 1:3 _ _ L
© 2:1 . . | D 2:5 ' '

10 women can cumplete a work in 7 days and 10 children take 14 days to complebe the same
work. How many days wﬂl 5 women and 10 c]:uldmn take to complete the work. .
@ 3 o _ - . ® 5

7 o N ' (D) Noneofthese

10 Quéansd g Ceucnavens 7 gm_saﬂau (g)lq.uu wigar. 10 ggpmgsm acﬁ Casmmans 14 jbm_saﬁm
Qslig apuLliuriaar. 5 @umm u:p)gun 10 @@mm,s&ﬂr G&rrmgl am@mmmw HEena pm_se’ilsu
Qsiag Q,plq.uulrrrm? ’ .

(A)3 ' " ® 5

o 7 - - o o D Gm;b&nﬂummpﬂmagmm@mmw



127. 20 women can do a work in 16 days. 16 men can do the same work in 15 days what is the

ratio between the capacity of the men and the women?

_(A) 5:4 -
® 4:5
© 3:4

\}(4:3

88.

20 Quasér 16 prisefic .9@. Caunaenws apiq LT D1GE Casmmens 16 gyeraer 15 pm safi

i lui aefid guemsdr, Quansafien Coumassipen slldgi wrg?

Ay 5:4
(B 4:5
(G 3:4
(D) 4:3

20 women can finish a piece of work in 16 days and 16 meri can finish itin 15 days. What is

the ratio of the working capacities of a man and a woman? .
@A) 34 - o 3 | .

© 5:3 o o O 2:1

@5 Caramus 20 Quansdr 16 pr_saligid 16 gpersdr 15 pr’ saligih (g s8priadr. e wHHd
Qusisranien CaimasBper eﬂ'&l,ﬁmnmg - _ : '

A) 3:4 ‘ B) 4:3

© 53 L . @) 2:1



88.

A can do a piece of work in 10 days ; Bin 15 dajws. They work for 5 days. The rest of
the work was finished by C in 2 days. If they get Rs.5,000 for the whole work, the
daily wages of B and C are '

(A} Rs150 . - '\a(Bs.zza

(C} Rs.250 : (D) Rs. 300

@f Gauemarulan (70 U@ﬁmu A erenpseuii 10 prsefigun B erenueui 15 prisafigun Qediau.

- @eeumd 5 prisdr Ceume Qsuigeni. Bf Ceumeeaw C eaanueu’ 2 prisefld Qsiig

APl gETT. Qungs Camnab@iiu mal as. 5,000 aafie B wogtb C-ulén Hanism e
(A)  m. 150 B) - 225 )
€ e 250 - D) . 300

Three men, four women and six children can complete a work in seven days. A woman does
double the work a man does and child does half the work a man do. How many women can
complete the work in 7 days?

(A/ 7 (B) 8

© - 12 D)y 9

@ GHUGLL Caumanw 3 asd, 4 Querser, 6 fpeuiae Conbg 7 prisefld. apylum. @
Querr, e Qe Ceauamals Gurd @ wLRE Cauame Gaweuni. G eﬂgg(mén' span Qe
Cauamande urd Caema Qi aafld, 2iCs Caumamw 7 prisdld wiyss assmean Quairaer
Csemautiu@Beur?

(A) =T (B) 8

© 12 ® 9



- A man, a woman and a boy can do a piece of work in 6 9 and 18 days respectxvely How
many boys must assxst one man and one woman to do the work in 1 day?

(A 5 s e _(3)6

© 9 = W

@f Casmaaw QM AT, R Qud;r wHNL Gl @uwe WanGw 6 9 wn‘;giii 18 pm.‘#aﬁé)
WyLunTEer eafler @ <%emid WHMID G DURTEID srmar muweseT glemer s m
mrafled Caumaans qu WPiguLb?

@ 5 " ® .
© 9 . . ™ 13



60. -

. would 21 women_take, if 3 women do as much work as 2 men?

39.

15 men take 21 days of 8 hours each to do a piece of work. How Ihany'days of 6 hours each

(A)  20days ' ' (B) 25 days

+

. (C)‘ 18 dajrs C M 30 days

15 Guf, @M BreaEg 8 wafl Crd Caume GAsig, 21 prisdfd g Casmamns Qauigy
wpuslapat aafid @@ praaég 6 wefl Cprd Cama Aaug, 21 Auarsd ajgman prisafic
2165 Caumaau Qalig weliui. Que 3 Quensd, 2 gyensafdar sowrar Camamw Qsiiddmarni?
@A) 20pmser . ®) 25pmisdr

(C) 18 pmiser : . D) 30 priser

If 4 men or 6 boys can finish a piece of work in 20 days, in how many days can 6 men and

11 boys finish it?

(A) 5 days M 6 days

(C) 7days (D) 8days

4 gemaer oeg 6 @uwearsear gm Camaemw 20 prisefld wulurisdr. euGaumeren
6 pamaer HmD 11 euwenser arggamer Bl safle) (e umigeT?
(A) 5 priser ' _ . (B) 6 priser
(C) 7 mriser (D) 8 mrlgeir

If 6 men or 8 women can reap a field in 86 days, how long will 14 men and 10 women take to
reap it? ‘ ' :

(A) 20days
(B) 15days
m24 days
(D) 26days

86 pm’ seflé @ cuLme 6 Spemser Biweg 8 Quekrad &{QIGLIGD.L‘_ Qe fenment. 14 ssamadT wHpb
10 Quarasar Heauwama SipeuenL Qe TS5 HIL&ET LG

(A) 20 priser

T (B) 15 prlser

(C) 24 pniser
D) 26pmisedr



199. 12 men or 18 women can do a work in 14 days. How many days will 8 men and
16 women take to complete that work ?
(A) 10days W 9 days
(C) 12days (D) 11 days
12 gyevwser gevevgy 18 Guawser e Gaemcvenw 14 i sefley
Q&weur erastled 8 yems@nd 16 Oueawsend GCFibgs  bs
Covemevenw eTHenat BTl _safley (LpLgLim ? '
(A) 70 Bl _seir B) 9 BT Z6T
(C) 12 prL &eir D) 11 Bl _ser



169.

51.

Workmg hours of an office is morn1ng 9:30 to evening 5:30. There will be a Lunch break

between 12 noon and 1:15 p.m. If the office functmnmg 6 days in a week, what is the total -
working hours of the ofﬁce during a week : .

(A) 39_ hours 10 minutes
(B) 36 hours

}

2" 40 hours 30 minutes

(D) . 38 hours

@ IPSIDSD &t 9:30 wesluleNHs wrwe 5:30 mmﬂ auey Buiigdng. 'pahTuSsb

12:00 wadmhg Ghuse 1:15 werl ey 2 ey GoLGalmar. Sigash amygld 6 prisdr

Quiademmes, g R sigreuasd @ubiEb Qorgs wesll CHHb eraaaey?

(A} 39 weafl 10 FuSiL b

B) 36 wafl |
(C) 40 wanfl 30 AL b
D) 38uwefl -

An employer pays Rs. 20 for each day a worker. worké and forfeits Rs. 3 for each day he is
idle. At the end of 60 days, a worker gets Rs. 280. For how many days did the worker remain
1dle"

(A) 30 | : (B) 35

© 39 | w7 X0

e wsored g uailurent Ceume Qaiyb prisafler proeTmenpsE . 20 sbuend QanRédmnir.
Sleuen Couanar Qewrg prlsafld o 3 udapsd Qaufpmi. 60 prsar Q,mq.eﬂla) @meufr m. 280
Qum B sras’ﬂm aggemen Briger uaeflwrert Geume Qaliweiidma?

@ 30 - (B) 85

© 39 _ D) 40



160: The daily wage is increased by 15% and a person now gets Rs. 23 per day. What was his"

12.

- daily wage before the increase?

(A)  Rs. 10

- @@ puflar Seandamaianw 15% &‘u_r.r'rg.é,]u_lg,_rrab‘g{@ﬁ @; 23 Quippnit ererllaD, ;&u@gﬂu@mgfp@ ey

.9|Gi_l—ﬁ' auriflw Hed gl Gr'es:}_leumeq? '

@ @10
® w15
© .20
@) @ 30

There are 1000 soldiers in an army camp. There is enough provisions for them for
70 days. If 400 more soldiers join the camp, for how many days will the provisions
last?

A) 40 days % 50 days

(C) 45days (D) 55 days

em @rrenieu amdle 1000 eirraedr @maesniser. SieuTsEsae 70 BrisendeE Cumgiome
weflensts QummLsET 2_dratan? DiBg (WamaHEG Cuegib 400 eSyradr eubg Caibsnaer erafld
CTES@EN BT &@héE b wallenss QUL sar CuNg WTAIGTS @)[HEELD.

(A) 40 pm sar (B) 50 prser

(C) 45 mmiser (D) 55 prcser



170.

85.

51.

A troop has provisions for 276 soldiers for 20 days. How many soldiers leave the troop so
that the provisions may last for 46 days.

A) 136 F 156
©€) 146 (D) 164

276 efpitsar 2 ater gm ULLragHe 20 prisEnsEs Comeauwnar sowwed QuImETEET 2 6Tens.
Qbsl Qummetser 46 BraTaEEsEE Buss CouamrOwailda assmean aifisdr @bHsSUILLLTETEMmS
AL (Hé& Qecvrev Ceuagr(HLd?

(a) 136 (B) 156

© 146 (D) 164

120 men had provisions for 200 days. After 5 days, 30 men died due to an epidemic. The
remaining food will last for

@ 150 days B) 146% dsiys

(C) 245 days \M260 days

120 Guir, 200 prisEnéE Caemauwmen 2 arells GUTHL samer meuggeTatani. 5 BIL&SEH&EGL D@
30 Guir AgmpmCrmwmed @nhg N Hanpant, erafles g perer 2 amrayLs Quirper érgg,emm BTl &@Eh&E
[ENGETIGIY

(A) 150 priser (B) 146% BT GeT

(C) 245 prisar (D) 260 prsar

Work in a fort 300 men had provisions for 90 days after 20 days 50 men left the fort. How
long would the food last at the same rate?

{(A) 160 days (B) 210days
w 84 days (D) 80 days

g CamieaL 196 Cauamar LMTEED 300 wallgiserss 30 pris@nég Coamauunar o_smm Quimgrer
e drengy). 20 pra@né@ Npe S0 Guir Aesnmiell L am. BspéTar 2 avTa) TESH@EN HILSEEES QUMD ?

Ay 160 prlser _ (B) 210 pa_sen
(Cy 84 prisdr . (D) 80 pmsar



49. 6 mencan complete a work in 50 days. In how many days 10 men finish the same work?
iy 85 : . ® 45 '
ol m T | o 40

S GLad g Camaou 50 prisalld wriur aafid 10 o sdr abgoen prsdld b

-

Geuaadanis (1piq LILITTEHET?
@ 35 bk . ® 45
(e - o D) 40




59. . Tmencandoa wurk in 52 days In hnw many days can 13 men can finish the same work? .

&) 21days © 28 days

(C) 24days o m)_aodm

- ki T W Geuensoani - 52 BT gerle ;}pquurrrrw srﬁfﬂm .54(:5 Couanaenws 13 .:th_asm T genam

- | p.rrl_.ﬂaﬂﬂw @Lq.uurmsm? . .. -
") 21 pam_safr - £B} 28 pmimar
(©) . 24 pmisdr : (D) 30 priser

146. 7 men can complete a work in 52 days. In how many days will 13 men finish the same work?

(A)  20days
(B) 13 days
(Cy 17days

o 28 days

7 ladr @@ Camaemu 52 prisefie Asiig wysdampart. G5 Coumaenw 13 sy ser TESHenan
BTl sefld Qg (pgluniser?

A) 20 priger \

(B) 13 B aar

©) 7 pniser

D) 28 pri_sdr



55.

5 men can bomplete a work in 52 days in how many days, 13 men finish the same work?

(A 52 B) 26

W 20 - (D) 30

5 oyl ser e Couameanws 52 gb;n'_asm’ﬂei) @yLLnTser erafld Sihs Gauamaai 13 <yl &6 arggene
Brlgafled (g lum?

@) 52 (B) 26

© 20 D) 30



162. If 100 persons can finish.a work in 7 days, how many persons can finish the same work

- 55.

35 days? -

W 20 persons

(B) 50 persons
(C) 30 persons
(D) 25 persons o
100 op1s6r (5 Cauanavenws 7 prisefid apu.dasé s Bib arafld G émm‘méw 35 mnn;a;aﬂd) P bs
argFenani) GUIT Gg,mmthu@lau r? ' ' ‘
A) - 20 gy gar
B 50maer.
€ 30 ;g,t:.éssir

D) 25 gy asar

A book contains 120 p'ag_es. E_a_ch page has 30 lines. How many pages will the same matter of
the book contain if every pages has 25 lines? -

@ 175 . - _ (B).150
© 164 g v 1

geauGeun® LssgHad 30 aflsmans Qanan.. ygsssHean Qurss’ usstsear 120. 20s Asid
gadan® usssdoud 25 aflsams Qmpsted ussssdear Qurssl usskaeian areflicms
ereucuaTRy? : B ' : ’

@ 175 s ® 150
(©) 164 o D) 144



56.

83.

A man white washes 96 sq.m of a compound wall in 8 days. How many sq.m will be white
washed in 18 days?

W 216 sq.m - (B) - 218 sq.mn

(C)  198sq.m . (D) 220sq.m

@®m puir 96 &.8 ur;ﬁﬁerrmen 8 prisefi® Qeudiaer sigpgmir aafler 18 .r_r;rri'_sa‘ﬂéa-;;rehma'rm
ugLUsTaney CeUsTanaT il (Pl itjth? ' '

(A) 21658 . : ®) 21855

(©) 19868 : D) 22088

If 18 men can do a work in 20 days, then 24 men can do this work in

(A) 20 days . B) 25days

(€©) 21days o M 15 days

18 waflgiser gm Gauemeamwu 20 priseid apylur. Gs Camamu 24 wellgiaer apbs

G;sémsuu_mén BT &aT

(A) 20 priser . B) 25 priser
B . b

(C) 21priser D) 15pmiaer

th .

89" Leela reads —1— of a book in 1 hour. How much of the book will she read in 3% hours?

. .

@) —2— part g 2 part
© %p-art: | ' @) whole book

dar adual @ USSssHa % ugfeowu 1 vall Cprsdd Ly epulunt aaflld Lbsasidn

areveueTay LIGHeaw 3% el GHTSH LgLmF?

5 7
(A) T &S L ®) 3 ugH
) 3 usd | o D) usﬁm@@m&h

8



1 .
103. Leela reads 3 of a book in 1 hour. How much of the book will she read in 3% hours?

e

A)

v

T — AR |
aSeor 1 wenfl Crrédled 1 UGS @ Usse5m8 LIgSSTe, 35 wesfl Cprsdled ercucuarey LGH Lgbs

(B)

D)

®|= w| o
@[ |

YPLub?
6 5
A) 3 (B) -
X 4
©) - D) =

61. 12 men working for 8 hours a day can complete a work in 90 days. How 'many days will it
. take if 8 men working for 12 hours a day to complete the same work?

90 days , (B) 120 days
(C) 80days o (D) . 100 days

12 gy sar Hagpd 8 wenflIGErb Geueer Gaiig ‘@@ Gouenewenw: 90 pm sefld apgés Eugib.
8 gy mar Hanapid 12 wenfl G Gauma Aaiignd Gy Caumaaw (plyss WD BILST absmean?
(A) 90 priser ' B) 120 prsar ' '

(C©) 80 priser : (D) 100 pmiser



47.  Six men working 10 hours a day can do a piece of work in 24 days. In how mahy days will
9 men working for 8 hours a day do the same work?

@)  10days | ®) 15 days
% 20 days . (D) 12days

6 yensdr, g Caumaau pramapsg 10 vl Cprb Cauma Galg 24 priseld gyl

9 Syamadr, prdemenpse 8 werll Crrb Gauena Galgred appear prisald sieCamaamu

(pigILIr?
{A) 10 priser (B) 15 pm a6
C) 20 pnadr @) 12pmisd .

43. A wheel makes 48 revolutions in 3 seconds. How lhany revolutions does it make in
30 seconds? :

(A) 400 ' B) 420

(C) 440 L s

Q sesporag 3 diprgsaiia 48 sppsear sppdrg Gs sband 30 sﬁlg_r;rnq_mﬁd),cr,isgmai ApenD

SHOILD? : _
(A) = 400 : - B 420
© 440 (D) 480

137. If 12 men can do a work in 15 days then how many days 20 men can complete the same

work?

(A} 10 days
(B} 5 days |
(C) 25days

T 9days

am Gaumaeus 12 puisd 15 gmlaefid apyliut. oGs Caimamw: 20 puitsdr agsmen prlseflad
Qg LLr?

(A) 10 pm sar

B) 5 mrlisda

(C) 25 pmisar

M) 9 prsar



817.

Z1o

144.

A book contains. 144 pages. Fach page contains 25 lines. ﬁow many pages will the book
contain if everSr page has 24 lines? |
@ 120 - ®) 130
15.0 ‘(D) 140
gaiGanm LsssH@D 25 afsmans. Qetanl. Ussasdar Qorss usstser 144, e;{(?;g SETEES
Gablanm uéasdlaid 24 euflsams Gmbsrad qg,g)&gilés; UISSIEIGET CTELaIETaINS @@S@;Lb?
@ 120  ® 130
© 10 _ O) 140

S 3
A can complete % part of a work in 20 days. A can complete remaining 3 part of the work

in 2
A 10 B) 20

© 30 &

e =S
A aramuauit g Gouamauden % ugdew 20 priselle Qeig wryourt HCs Geueneoufienn 1

uGHeow A Qg Prés YED Hrisaldn aarailams
@ 10 : 3@ 20
© 30 (D) 60

If 14 compositors can compose 70 pages of a book in 5 hours, how many compositors
will compose 100 pages of this book in 10 hours?

@ 12 . @ 10

(C) 8 D) 17

14 wiFas Cammiueuiadr, 5 wafl Cprgde em ussssHean 70 ussnsmar wpiryliur. 10 weefl

Crrsda, 100 Lssms@ar (pig &5 aThE@ar MFas Camiueuiser Caameu?

(A 12 i B) 10

€ 8 D)y 7



36.

15 persons can fill 35 boxes in 7 days. How maﬁy persons can fill 65 boxes in 5 daya?

(A 18 . (E'/ 39

© 4 - @ 6

15 Guiit 35 QL g smer 7 prisofié Hriuaniad cafld, 65 QUL gamar 5 Grald e o i
;Elgqua_lm’rgsi'r? ' : .

W 18 L '-(}_3)' 39

w45 L @ 6

If 40 persons consumes 60 kg. of rice in 15 days, then in how many days will 3¢ persons

consume 12 kg, of riee

AA)  S¥days . {B’dl.da}'s

{0 614- days | : ) 9days

47.

40 .%1_&:611 60 dGar ofiflaow 15 prlsafla Lwa@sgdorisdr aalld, 30 o s 12 Qﬁiml:r
@irﬂ.ﬂsa_:lu..l sTEEener Bl saflc uus&ﬁ.l@ﬁ,g. @lsfu_ub‘? ’

(&) 32 palae _ ' : (B} 4 pmsdr

€y 61 pmisar o D) 9 prse

If 20 men can build-a wall 112 meters long in.6 days. What length of a similar wall can be
built by 25 men in 3 days?

(A) 40 meters (B) 50 meters
(C) 60 meters ‘ M 70 meters

20 <yt &6 6 H_sefle 112 8 Sareperen souemy Sy, (igssTed 25 bl a6 3 Hrisealle areuaiaray Hers
Feuané S lg (LPlgILmT?

(A) 408 ' (B) 508uLi

(C) 608 (D) 708w



41.

" If 20 men can build a wall' 112 meters long in 6 days, what length of a similar wall can be
‘built by 25 men in 3 days? '

(A) 56 meters ' m’ 70 meters -
(C) 45 meters ‘ . (D) 60 meters =

20 gy, g6 6 priseflcr 112 8 Bemaperer mmrj &g @,pq@,srrsi)'. 25 gyl sar 3 prisefler ereueuarey
fos sduany Sig (pYLUILIA? '
(A)  S6BLLE B) 708

(C) 458uci . . (D) 60BLLF

If 12 men can build a wall 96 meters long in 6 days, what length of a similar wall can be

built by 15 men in 3 days?
(A) 72 meters
(B) 90 meters

(C) 86 meters

M 60 meters

12 oy a6 6 prisafier 96 o Hengparar seueny sy pu s 15 oplser 3 prisafle ereueuarey Hers

HOUMTS S Ilg (PlgLILIT?
(A) 728w
B) 90
(C©) 868 L

(D) 608



192.

54.

317.

If the wages of 15 labourers 6 days are Rs. 7,200, find the wages of 23 Iabourers for 5 days

(A) Rs. 6,200
(B) Rs. 7,200
(C) Rs. 8,200

15 ng;@wwmﬁa{@é@ 6 mriseysster el e 7,200 aefle 23 QsmfarenisEpaes

5 B8 (EhEaTE Saddl cTEUGUETRY?

(&)  .6.200
® 2,200
©) @.8.200
@ 9200

If 3 persons weave 168 shawls in 14 days, how many shawls will 8 persons weave in 5 days?
@A) 90 (B) 105

© 126 T W7’ 160

3 Gui, 168 CuoemeLsamer 14 prisefld Qpudeament. erafled 8 Cum, 5 prisefld ergsmen
GuemenL_gamer QpuieuT? .

A 90 ' - (B) 105

© 126 (D) 160

If 6 men working 8 hours per day and earn Rs. 8,400 i
\ . 8, per week, then 9
per day will earn per week : e e

(A) Rs. 8,400 qﬂ( Rs. 9,450

(C)  Rs. 16,200 (D) Rs. 16,800
6 Gur"r. 0 ;_r,rrmm{z@ 8 werfl Crmb Caumar Qsiisg, R0 UTSHNEG ® 8,400 siwurdsdament. crefe
9 Cuir, @@ preneré@ 6 wenfl Cpimb Couener Qsiiigy g UMISHNE ereuauaTay SLITHILINT?

(A em. 8,400 (B) e 9,450

©) @ 16,200 (D) e 16,800



187. Six men working 10 hours a day can do a piece of work in 24 days. In how many days will

9 men working for 8 hours a day do the same work?

(A) 10 days ' (B) 15 days
‘/ 20 days (D) 25 days

6 panadr g Ceumeamw proamarnseg 10 wafl Crrb Ceumer Qawig), 24 priseafléd apiglum.

9 - y@ser, pramamis@ 8 weanfll Cryb Catera Qewipmed, agsmen Brisafle BjeuCaumaen

WPy UIU?
(A) 10 prlser B) 15 prisger
(©) 20 prser D) 25 priser

124. 20 men working 6 hours a day can ﬁnlsh a work in 4 days. In how many days can 10 men
workmg 8 hours a day finish the work‘? '

@ 8days »eafedays

© 4d33’5 ‘ ‘ (D) 10days

20 syl sar g prevaré@ 6 wenfl Crpl Cauma Qswigmed 20 Geaueaens 4 ‘r_r,rn_a;ﬂflm @Lq_aaﬂia; a'n.@m B
erenfléd 10 gy’ &6 Gp(p ;ﬁrrmm&;@ 8 wexfl Cpyb Gouamey QaigTe é{m@mmmeﬂm Gr,s,semsr B gafléd

G458 P LD? ,
A) 8 anasai'r _ _ (B) 6 prser
©  4dpriss —_ (D) 10 prcser |

121. Sixty machines can produce 4850 identical mobiles in 5 hours. How manylmo’b'ﬂes would
25 machines produce in 6 hours? '

@A) 3215 - - B 2425

S (C) 4250 D) 4210

sipig @uidviisd 5 el GorsBd 4850 GrodcGudlsmer e puss Qsidemer aald,
25 QuibSpruser 6 wanfl Corsdld asgeman QedelL Ll Guilamar e MaurdEn?

@ 3215 3 (B) 2425

(© 4250 L (D) 4210



192,

162,

47.

If 22 men can build a wall of 110 meters in 10 days. The length of a sm:ular wall built by
30 men in 6 days is .
(A} 100 mts -

\UBr”~ 90 mts

(C) 80 mts

(Dy 70 mts

22 oy &dr 10 prcsefld 110 B Beraperar seueny sy apupsTD, 30 st 6 prisad sy
WPuSED seurfler Hembd

(A) 10018

@) 908

(© 808

AT

M) 708

If 24 persons can do 180 Jobs in 15 days, then ﬁnd the number ofperaons raqun'ecl to do

240 jobs in 12 days.
@ 38 : RV S

© 42 o . D) 44

24 gl adr 180 ueflisemer 16 pm.&aﬂm ruuT eaafle 240 umﬂ&mm 12 .mm_a;nﬁm WPy éss
Gﬁmuu@m .Egl_saﬂat Graranﬁ.ksnmu.l Ll L

A 38 S o B 40
© 42 : . o A

12 men complete the 2400 sq.m ploughing work in 10 ddys. How many men are required to
complete 3600 sq.m ploughing work in 18 days?

@ 10men (B) 15 men (©) 18men (D) 20 men

2400 5.65. flogamg 12 Caumawrsd 10 prisalla 2 (pg apylui. 3600 &.15. agamg 18 pm’_safle
2 (PeushE ergsenen CeuameanL ser Caenéu?

@) 10 gyiadin B) 15 oyt ser (©) 18 syl sar D) 20 oy ser



194. !f lﬁ'ﬁm can compose 60 pages of a book in 5 hours, how mw'oompooitors mn ‘
compose 200 pages of the book in 20 hours?

@ s
& 10
© 12 ,
O 1

12 wibsé Camiuauiisar, 5 el CorgHd G LussssHan 60 Lashsmen LU, 20 wafl CBrsHe,
200 usshGmeT P4 &8s TFHMe DF&E Camiuauiser Cpameu?

@ 8 ,
® 10
© 12
® 1

- 92. A book contains 300 pages. Each page has 32 lines with the same content, how many pages
w111 the book contain if every page has 24 lines?

() 350 ; . : H’ 100

€ 425 . (D 375

gaQaunm usssHaid 32 eflsmens Qamem u{sgasgﬁén. Qurgsls ussmsar 300. Cs Qo
paQanm LsssHQD 24 aflsams @mBSTO, LssssHar QLIES! USSHES aieaTeINs
- Boheb? o oot %
@ 30 ®) 400
- (© 425 gt b D) 375




185. Vijaya types 540 words in half an hour. How many words will she type in 9. minutes?
(A) 164 words
® 172 words

(€ 152 words

\.ﬂ!( 162 words

sflggur siany el Corgdiar 540 arfgagsmar 51 &5 Qeudori. 9 AOILsHG et erfsean

QU HengEenan S Lis Qalieumi?
(A) 164 aunipengzen
®) 172 aurirgengaer
(€ 152 anipmgsdr

Dy 162 aunitgengser





